H{ (GeV) <2000 >2000

piss (GeV) (350,450)  (450,600)  >600 | (350,450) (450, 600) >600
Nongenuine pT | 9.6 © 101 22733 <01[283+251 131+074 073 5%
YW 5134+ 9.7 291+55 11.6+£25|1584+0.58 0.70+£037 1.23+£043
it 1714+ 54 56426 19404 |097+038 045+£029 0.40+0.22
vZ 1154+ 24 97418 71414|012+007 025+£0.11 0.21+£0.10
e 151+ 46 634£19 14+05|021£010 0.13+0.07 0.05+0.04
Total bkg. 1046 +165 53.0+86 220+30 |572+260 2.84+0.89 2.62-+0.99
Data 103 82 21 6 10 4

T5Wg 1600 100 044+ 01 08401 07401 |366+040 3.09+£040 2.41+0.32
Tégg 1750 1650 | 054+ 01 08+01 49404 |031+004 046+0.07 4124032




